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Dear Parents
e Vacations are welcome break.....Break from schedules, rules and regulations of the school.
Freedom brings more responsibility, so keeping this in mind, we have planned most of the
activities to keep our children engaged and also help them in channelizing their energy. Kindly
help and guide your child in completing his/her work and also exploring his/her creative self.

Important Note:
¢ Solve the given Practice Papers in your respective subject notebooks and submit on January 16,
2025.
o Prepare the given English and Hindi ASL topics.

e Prepare all Lab Practicals of Mathematics and Science for Annual Examination.

HAPPY HOLIDAYS !



ENGLISH

e Explore and prepare each of the following topics for ASL (200 words):

bl e

Mental health awareness for teenagers

The importance of self-discipline for success
The value of volunteering in our communities
Exploring different career options for the future

PRACTICE PAPER

General Instructions:

(1)
(ii)

The Question Paper contains THREE sections- READING, GRAMMAR & WRITING and LITERATURE.
Attempt questions based on specific instructions for each part.

SECTION-A (READING SKILLS)

Q.1 Read the passage given below:

1.

Hiking is a great source of pleasure to us besides being beneficial for health. Once we leave the crowded streets
of a city and go out for a walking tour away from the mad world, we really feel free. The open air has a bracing
effect on the mind. The congestion of the city, the uproar and tumult, the intolerable noise of traffic, the hectic
daily routine, all these are forgotten and the mind is at ease. We then feel like running, leaping, singing and
laughing. We travel merrily mile after mile in the company of friends and associates.

Hiking takes us in the midst of nature. The sight of waterfalls, flowers, streams, trees and bushes is pleasing. A
connect is established between us and nature. Various sounds of nature, like the murmur of a brook or the song of
a bird, acquire a new meaning and significance to us.

You enjoy the beauty of nature. Minute observations like a snake casting its slough, a mouse peeping out of its
hole, a squirrel leaping about on the branches of a tree, a bird flying past us, all these are noticed and they arouse
our interest. We have no business worries, no fear of the examination, no anxiety about the home. We have leisure
to stand, to walk and talk. It is more thrilling and pleasurable to hike in a mountainous region than in the plains.
The excitement of climbing up to the top of a hill, the adventure of coming down a slope, the grandeur of sunset
behind a mountain - All these sights lend a rare charm and interest to our journey.

We walk along a zigzag motor road or cut across a mountain path in search of adventure. We may have bright
sunny weather or might get caught in a shower of rain. We may look below us into the yawning chasm or up at
the mountain peak. The feeling of unlimited freedom makes our hearts leap with joy.

Hiking is one of the healthiest sports. It ensures a complete escape from the urgent and busy activities of life and
therefore gives solace to our brain. It regains its lost energy and is able to do twice as much work as before.

The fresh air, beautiful mountains, majestic trees, chirping sound of birds make one's mind and soul at peace with
nature.

Based on your understanding of the extract, answer the questions below:

(@)
(b)

©)
(d)
)
(f)

To go out for a walking tour is

(i) tostroll (ii) to ramble (iii) to hike (iv) to saunter

Why does the writer say that the mind is at ease when you hike?

(i) because hiking is an inexpensive activity. (i) because it brings families together.

(iii) because of intolerable noise of traffic (iv) because the depressing daily routine is forgotten.

Complete the following with a phrase:
The various sounds of nature acquire
Infer one reason for the following based on information in paragraph 2.
A contact is established between us and nature.
Complete the following analogy correctly with a word from paragraph 2.
aroma: cooking; fragrance:
Give one reason why it is a pleasure to hike in the mountains than in the plains.
(1) because observation is sharpened.
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Q.2

(9)

(h)
(i)

()

(i) because of the excitement of climbing up and adventure of coming down.
(iii) because it is leisure to stand, to walk.

(iv) because there are no worries.

Hiking gives the brain, the rest it needs because

(i) itisashort time activity.

(1) 1t is one of the healthiest sports.

(i) 1t makes us sleep peacefully.

(iv) it is an escape from our busy schedule.

List any two examples of minute observations you make while on a hike.

Supply one point to justify the following:

Hiking gives us a feeling of unlimited joy.

Substitute the word ‘leap with joy’ with one word similar in meaning in the following sentence from the passage.
The feeling of ultimated freedom makes our hearts leap with joy.

Read the passage carefully:

1.

(@)

Necessity is indeed the mother of invention. When areas in and around Leh began to experience water shortages,
life didn’t come up grind to a halt. Why? Because retired civil engineer in the Jammu and Kashmir Government
came up with the idea of artificial glaciers.

Ladakh, a cold desert at an altitude of 3,000 - 3,500 meters above sea level, has a low average annual rainfall rate
of 50 mm. Glaciers have always been the only source of water. Agriculture is completely dependent on glacier
melt, unlike the rest of river/ monsoon-fed India. But over the years, with increasing effects of climate change,
rainfall and snowfall patterns have been changing, resulting in severe shortage and drought situations. Given the
extreme winter conditions, the window for farming is usually limited to one harvest season.

It is located between the natural glacier above and the village below. The one closer to the village and lowest in
altitude melts first, providing water during April-May, the crucial sowing season. Further, layers of ice above melt
with the increasing temperature, thus ensuring continuous supply to the fields. Therefore, farmers have been able
to manage two crops instead of one. It costs about 1,50,000 and above to create a glacier.

Fondly called the glacier man, he has designed over 15 artificial glaciers in and around Leh since 1987. In
recognition of his pioneering effort, he was conferred the Padma Shri by The President of India.

There are a few basic steps followed while creating an artificial glacier. River or stream water at high altitude is
diverted to a shaded area of the hill, facing north, where the winter sun is blocked by a ridge or a mountain range.
At the start of winter i.e., in November, the diverted water is made to flow on sloping hills facing distribution
channels. Stone embankments are built at regular intervals which impede the flow of water, making shallow pools
which freeze, forming a cascade of ice along the slope., Ice formation continues for 3-4 months resulting in a large
accumulation of ice which is referred to as an ‘artificial glacier'.
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Based on your understanding of the extract, answer the questions below:
Infer one reason for the following, based on information in paragraph 1.
Areas in and around Leh began to experience water shortage but life didn't grind to a halt.

(b) Select from the passage the appropriate option to fill in the blanks:
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Agriculture is completely dependent on unlike the rest of river/ monsoon-fed India.
(1) rainfall pattern  (ii) climate change (iii) glaciers melt (iv) extreme winter conditions
(c) Complete the following analogy correctly with a word/ phrase from paragraph 3:
icing: cake: layers:
(d) Select the correct option to complete the following sentence:
At the start of winter the diverted water is made to flow
(i) on mountain range (i) on high altitude
(iii) on ice-cold water level (iv) sloping hills facing distribution channels
(e) From the chart select the months of water surplus.
(1) January, February (if) November, December
(i) July, August, September (iv) March, April
(f) Fillin the blank by selecting from the passage the correct option:
The have been the only source of water in areas in and around Ladakh
(1) glaciers (i) rivers (iii) streams
(9) The word 'located" in paragraph 3 means:
(i) found (ii) locally found (iii) situated
(h) Write any two steps followed while creating the glaciers.
(i) List one reason why artificial glaciers seem the best option.
() Select the most suitable title from the following for the passage:
(i) River Beds (if) Water Shortage (iii) Artificial Glaciers

(iv) water springs

(iv) adapted

(iv) New ways to Pool Water

SECTION-B (GRAMMAR & WRITING SKILLS)

Q.3 Attempt ANY TEN of the following questions:

(@) Fillin the blank by choosing the correct option to complete a school advisory.
Parents must their children's leisure activities.

(i) look at (ii) look into (iii) look away (iv) look up
(b) Read the conversation between the Chief Guest and the student. Complete the sentence by reporting the reply
correctly.

Chief guest: Who inspired you to learn classical dance.

Student: I was inspired by my grandfather who was a renowned dancer.

The Chief Guest asked the student who had inspired the student to learn classical dance. The student replied
(c) Select the correct option to fill in the blank for the given line on a save the environment poster:

Keep the environment clean. Do not litter.

You ...follow rules.

(i) should (i) may (iii) must (iv) will
(d) Select the option that identifies the error and supplies the correction for the following line:

The sounds of laughter was echoing in the corridor.

Option Error Correction
(@) sounds Sound
(b) Laughter Laughing
(c) Was Were
(d) In of

(e) Complete the given narrative by filling in the blank with the correct option:
In times of trouble you can always your parents for help.
() turnin (i) turnto (i) turn on
(f) Fill in the blank by using the correct form of the word in the bracket:
The students with the help of their teacher (create) a beautiful poster.
(9) Report the dialogue between the receptionist and the customer by completing the sentence:
Receptionist: When would you like to check into the hotel.

(iv) turn away
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Q4

Q5

Q.6

(h)

()

Customer: I will send you an email and give the details. In response to the question regarding when he would like
to move in, the customer replied

Identify the error in the given sentence and supply the correction:

The children were exciting when they saw the leopard.

Use the given format for your response:

Error Correction

Fill in the blank by choosing the correct option to complete the slogan.
ONLY WEAPON TO FIGHT INJUSTICE IS EDUCATION

(i) THE (i) A (iif) AN (iv) THIS
The doctor examined the patient when the family arrived.
(1) was (i) had (iii) has (iv) have

Select the correct option to complete the narration of a dialogue between a passerby and a farmer.

Passerby: Can you tell me the way to Rampur.

Farmer: Drive for four kms and then turn right.

The passerby asked the farmer if he could tell him the way to Rampur. The farmer replied that

(1) he may drive for four kms and that has right.

(i) he should drive for four kms and then turn right.

(iif) he might drive for four kms and then turn right.

(iv) he had to drive for four kms and then turn right.

Identify the error in the statement given below and supply the correction. Use the given format for your response.
Water was vital to human health and fitness.

Error Correction

Write a descriptive paragraph in about 100-200 words, on ‘My Grandmother’. Use the input given below:

Most amazing person..... She always puts a smile on our faces ........ Had the funniest laugh...... Would
help anyone no matter what the situation was ...... Always welcomes guests...... Could talk to her about
anything.....Makes the best idlis and payasam....... Raised me to be a better person......Everyone who meets

her will cherish forever

You have visited a friend who has returned after five years from Dubai. Write a diary entry in about
100-120 words.

Hints:

» Felt excited on meeting Sudhir
» Came after five years

» missed his friends and relatives
» Bought gifts for many

OR
Write a story with the help of the given hints:
Seema.... Working as maid......... Eager to go to school......... Unable to do so......... Family
responsibilities....... You....... decide to help....... She attends evening school ........ Passes exam........ You

rejoice in her success

SECTION-C (LITERATURE)

Read the following extract and answer the questions that follow:

He looked utterly downcast as | shifted to my seat in the last row. The image of him weeping when | shifted to the last
row left a lasting impression on me.
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Q.7

After school, we went home and told our respective parents about the incident. Lakshmana Sastry summoned the
teacher, and in our presence, told the teacher that he should not spread the poison of social inequality and communal
intolerance in the minds of innocent children. He bluntly asked the teacher to either apologise or quit the school and
the island. Not only did the teacher regret his behaviour, but the strong sense of conviction Lakshmana Sastry conveyed
ultimately reformed this young teacher.

(@)

(b)

©)

(d)

)

(@)

(b)

©)

(d)
)

The incident took place with two friends. They were

(1) Abdul Kalam and Ramanadha Sastry (i) Abdul Kalam and Sivaprakasan.

(iii) Aravindan and Ramanadha Sastry (iv) Abdul Kalam and Lakshmana Sastry.
The title that best suits this extract is

(1) Gender Discrimination (i) Caste Discrimination.

(iii) Racial Discrimination (iv) Communal Harmony.

Lakshmana Sastry on the teacher not to spread the poison of

(1) communal harmony (i) untouchability

(iii) social indiscrimination (iv) social inequality

The statement that is TRUE about the role and personality of Lakshmana Sastry, according to the passage is
(i) Lakshmana Sastry summoned the new teacher.
(i) Lakshmana Sastry was against caste discrimination.
(iif) Lakshmana Sastry was the principal of the school.
(iv) Lakshmana Sastry was a man of principles.
What did Lakshmana Sastry ask the teacher to do?
OR

“His father looked at him red-eyed, in his familiar tyrants’ way. His mother melted by the free spirit of the day,
was tender and, giving him her finger to hold, said, "Look, child, what is before you!"
For whom does the word 'him' stand?

(i) father of the child (ii) the child

(iii) a shopkeeper (iv) a villager

Why did the father look at the child red-eyed?

(1) he was angry with the child (ii) the child disobeyed him

(iii) the child had demanded a toy (iv) the child was not following him
The father is considered a tyrant because he

(1) beats the child (ii) starves the child

(iii) turns down the child's requests (iv) is very short tempered

The mother asked the child to look what was behind him. (True/False)
Who was more tender hearted towards the child?

Read the following stanzas and answer the questions that follow:

“When the humid shadows hover
Over all the starry spheres

And the melancholy darkness
Gently weeps in rainy tears,
What a bliss to press the pillow
Of a cottage-chamber bed

And lie listening to the patter

Of the soft rain overhead! ”

(@)
(b)
©)
(d)

)

The fact that the poet says 'When the humid shadows hover' means that

(1) it is very humid (i) clouds have gathered in the sky
(iii) clouds have covered the starry sky (iv) clouds are clearing up

What is referenced to as ‘starry spheres’?

The poet is enjoying the pitter-patter of the

(1) soft clouds (i) stars (i) soft rain (iv) harsh wind
What is the poet NOT likely to say to the visitors?

(1) "1 am so happy to be in my bed." (i1) "The sound of the rain is so soothing."
(1ii) "It seems like the dark clouds are weeping." (iv) "I wish it would not rain again."

Which of the following has been personified in the line, "Gently weeps in rainy tears™?
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Q.8

Q.9

(i) rain (i) dark clouds (iii) the pillow (iv) humid shadows

OR

“It is the human earth that we defile.

Our hells of fire and dust outrage the innocence

Of air that is everywhere our own,

Remember, no men are foreign, and no countries strange. ”

(@) What does the poet mean by “our hells of fire and dust outrage the innocence”?

(b) The second line of the extract is an example of

(1) simile (if) metaphor (iii) alliteration (iv) personification
(c) The main idea of this extract is

(1) hatred cleanses the air we live in (i) love pollutes our life

(iii) hatred pollutes the house we live in (iv) hatred pollutes the air we live in.
(d) Who is the poet of the poem from which these stanzas have been taken?

(i) Walt Whitman (i) Leslie Norris (iii) James Kirkup (iv) William Wordsworth
(e) The word "defile” DOES NOT have a meaning similar to

(1) purify (ii) pollute (iii) spoil (iv) contaminate

Answer the following questions in about 40-50 words: (ANY FOUR)

(@) What kind of teachers did Margie and Tommy have?

(b) Why do you think Kezia stuttered only before her father? How could her father have helped her?

(c) Which is the route from Kathmandu to Delhi, that the writer had planned to take earlier? Which route does he opt
for? Why?

(d) What did the old lady do when Saint Peter asked for a cake?

(e) How does the poet react to his loved one’s death? (A Slumber Did My Spirit Seal)

Answer the following questions in about 40-50 words: (ANY TWO)

(@) Why was Toto’s presence kept a secret from grandmother?

(b) Who was Iswaran? What were his responsibilities?

() Why does the narrator break down in tears after the fire? (A House Is Not a Home)

Q.10 Answer one of the following questions in about 100-120 words:

(@) Give the doctor’s character sketch in the light of the story ‘The Snake and the Mirror’.
OR
(b) Write a brief note on Santosh’s journey from her local village school to Nehru Institute of mountaineering at
Uttarkashi.

Q.11 Answer one of the following questions in about 100-120 words:

(@) What change did Sergei notice in Lushkoff when he met him after two years? How did Olga help him? According
to you, what changed him? Do you think the positivity of Olga helped him?
OR
(b) Read the following common saying:
“Foolish people are unpredictable and can be very dangerous.”
Justify this statement in the context of the story ‘In the Kingdom of Fools .
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Yo1

& Ty Rt W aeeE fiay o arem vt (ASL)® feTe amg i (200 words):

oWﬁéﬁ"\’m%
o AR 3R T HT Far
o AY SiIael & of&y
T A9

TaegH AU

SN TIH IR TS & - WS ', @, ' 3R ‘&

s- ‘& H el 9IS MGATr  TET AT | ST IAGATA T €A deh UG T 3 AT |

s- @ H cHTGEIRep TR H FHel 20 G Y& ST, FSieTal @ harel 16 WRaAl o 3K &1 81T | (Fcdeh
AT H AT I H A IR T el AfAard g1

s- T A YISATEh I TR ST, HTSATR 3R T IS ST |

Ts- ‘T A TeATcH olWe & MU T Y& I ST |

URT Wl o ol 16 WA 8 | T Tt A weaAl o 3oR ST JifAard B

fordell st sgct FraeTell & UfET 3R SeTeht UTelel TSIV | FUHTE TRT W1 6 Tl % 3 HAU:
faf@T|

s 'F' (IS IgATeN)

farafaf@e arezmr # yga q@ v gt & We 3 AFeqt @ giav-

IR o STeFel o T TS X AT & Toh ATRIERT HISTeT 3aH T & [T HGASS § | Brel-Toel, Heall,
TaffesT Jeh T gTel, sfiet Ta g & &1 gardf 311 & fAerehT &l §34T<-ig|f&d 3MER, MotT & s off
STEIel Ted UeT 18T ST | SHRT GHE HROT TG & foh STd g SileTa’ HRT ST &, dl I8 FHA-9ary ST
¢ | I I Heofl & 1Y ] oTe gl | 31 fAfRrse @ISt & gary g o gar =eim § 6 S foredt Sretax st
HART ST &, A T8 STl 7T g1 ST & Toh 37T T 3cUesT Tgdlel dcd 39 IR R & thel 31 & 3R
T STgdrel ded AT *wﬁmw%lﬁ%%lﬁ?ﬁqgﬂﬁﬁsﬁsréwd‘ & | AN AR 3T cIcal sl quiaar
fAeTelet & THLIATA AT & | SIS g 81dT & foh 3T wdqm,%;raalﬁyﬁ@ramﬁ?ﬁ AT
FT STEGT 3T HAT &, SATAT TG folclid ITaRIH & foh TIRELT HI gioe & §H qOTaT ATHBRT Il
e fRshe saferd e Siiaet-otely 1 31feres 3mesforen, yarfareiier 3R d=foes svgd 8 va 3rdel 3maent
ATHTERY gt H faRa & gerfaelier saferd a1d Agqd i &

()  wafd IR A FiF-Fia & @y vgrd aFafa §

(i)  FISAT B AR Hoer T { e ARG FT FHAT FA I3 82

(i) FaTEey Hrgite @ fFw s F 377 FeT AT
() AETERY HYSTeT (T) ATHERY Tt
(9T) TYoI-€l JeorcT iTsteT (1) eIy HISTeT
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Yo2

(i)  gEfhfat firgite & Hia-w shaer - gomrel smeyfass, worfoaefier va dmfas 82

() TR Sha=T-gomely (@) ATATEIT Sfiae-JoTel

(37) QATRTETT SHEeT-JoTTel (6T) B SHTqei-goTrely
(iv) Fge (A) 3R FROT (R ) F 99 39GF fawey fAfAT:

FY (A): ST o HeJfeld TEN T SiTdeT T ITER gl & |

FROT (R ): TATY (G b ToIT Hlfcdeh HISTeT eIl AT |

(&) YT (A) IUT HRT (R) GleAl T & |

(@) FUF (A) eI &, WAfeheT HROT (R) TET 8|

(3T) YT (A) TET g, el fched RO (R) ST el SITEAT HIAT |

(€1) =T (A) TUT HROT (R) GlAT TET & T2 HROT (R) FHUT (A) FT TET SATCAT AT |
farafaf@e areamer # yga q@ v geat & §E 3R AFeqt @ gfav-
31TST IRER T 372 shefel Ifl-Teett A e deh WA & | T 3R T3 IRAR 39 TeA-A IV E, STafeh
93T IRAR Ueh gegeT i H1d 81T &, ST HeJSF o Sitaet H 37Tet dTel HTE-hIeT H ST TSI BT | B
3R TeralT IRER SRT-ET 8 HREol TS H TaTenT IR ITcHETdS HeH deh 38T od & | JoTelo Tos
oY ATRIATEIRIT & §3 IRAR & TEH H I el IR 91T foh 93T IRAR STTFd ol o chaol AR
3R AATAF T F T W@ H A AT &, Sfed STHART AT Ja1d Fr &l 7 39+ ojom 3R e
8 T TR T 3 YAl dl & S[31e o [T daR T g| ide Sifel 98 o 99 IR & deey # fecqofr
T &, "3T9 &2, AT AT AT o ferely off Teedy & T¢, Tl 34T & 3 317l &, STel Uehole IRaR gl & 3R
3oTeh YU-G ATSIT 81 & 1" ST, ST & TctATeT 3R 11 o1 alam TRER ol Hofdl aiid TR 8T feehr
§3ﬂgﬁm%lWﬁﬁaﬁaﬁm@@?ﬁ,wﬁrmﬁwsﬁmmémumwmﬂwﬁ
&1 o forT eree] & 31f8reh Fged AT I 1T & | A STTF 3r9eT IRAR o AT HIGATcAS T H ST
g, oY 313 TIH TSTS A B & | Tdedret SifeT #T g &, "37Tel Sl hl I &t & forw 3ma gfaar
I TFHY I Hehel &, Afhet 3TN TR Teh IT-T ER-TRAR 1 G X FhelT 81" SHIAT srel hr
T U &1 o111 ol FFHTST el FAEEAT ATig V| TRaR & Faferet st hr oI fEeht thirg ariar &1 avgelt
g, "Ife 3119 379<) g3 T ITET 11T ITEd &, dl 3o 93 IRAR & 1Y ANfBT| S=aT 37 draT T{
T HERR 3R Heg[or drg Srear |
() wgFa 3R 951 IRaR Fa ds & g AT 2
(i) e # 93 TRAR 9T HETTT I arell fohd AT FT Iea@ a1 3147 § 3R 38174

P E?
(i)  IRER Hir i i AFA 9T AT -

(eh) SHART WS gl & (@) ufFa e g

(3T) AherdT flR & (&) G 3menRa giet &
(iv) 3T Al TR HleT T FT TFHAT 52

() STIRT STAT-Golr (@) 3Tk F3-FoTo

(3T) 3T haT Hgeld (€1) 3THehT 3RT- IRER
(v) 'dCqaT A HieT-u1 WA 82

() 3 e () YT T

(3T) HEY ATET (&) STTRRTOT TRy
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Yo3

o4

Jo5

TJob

Yo7

Jo8

To9

3 -@ ( SIagIRa ST )
rafaf@a 'usg 31t ag 9v arenRa et weat & ¥ Rregl &Y weat & 3w A
(i) T o 3TTHR $2a haT ereg 82
(i) @Ol o AT HHG I FAThgd o?
(iii) TR # GYeFeT Glet ATl §X 2SS FIT g ellell o2
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91T fohar ST 82
(i) '@ T & YA guT &1 A1 faf@u|
(i) 37TEIR T Re faf@|
frafaf@d sawet stk yeaar av 3mena 9 yeat & ¥ fFedl R weat & 3w ST
()  ‘UcAF USE H hlel AT ITH § UG A AE H st AT TcTT Mg ?
(i) AR IR AT Asal H A 3UH 3R FcIY 3l RS
3 F YR 9T a1 A I IR et Teat & 3w ffSv:
(i) QIIE JETeT ITHAT T {ET & | AT il [N ardeh a1 H 96l Y [l QU]
(i) ‘AT JH AIH SHTAT TGN | AT T hleT-TT TR &7
(i) 3 hrgive @ arerg & foheel A 82
(iv) 2R T WS A kol § 1 a1 ol TaeTTdTereh a1ehd H deole QU |
frafaf@d @ @ 3renRa T geat # @ fFegl i weat & 3w HfSw:
(i) RO & g §iY faeoe fafaT
(i) &y gfer &1 ues 3ergoT i@
(i) oA 3R 3R Hi-fawde fafav|
et R Rea 9w smanfa dier veat # @ fredl &Y weait & 3w o
() (/20 ¢.) Prsaw H QU T [ Rea draarama g?
(i) TOCHIarae RKEd &1 96T Sl U gy fof@u|
(i)  arFaT & ersel A Efgied w9 & for@s & fow v RigsT o1 93T frar sirar &2
@3- (MSAYEdS Ud (& TSAIEAH)
farafaf@a srgaier o smaRa q& a1 weal & 3 faf@w:

S8 # 38T, Hel 370 g1 S8 R H 379 Too-AdT IFERGH & Fich 3ET HTd @ ST | IFENS [Siegiol
A Acarfed foram 3R 7 ey e agamar| Hel 3ee 9= 3Tt & TaREe i g@dl Ters dea I
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T § | FS &3 STe; TNt H JoloR qg”a 3R 37glet BIel ol & Y U] $H HHY cTeh BIE A §HAR el
Y TAEE TR §H TR & §iot hT Fall ¢ &7 AT | o A &Y H dlehl-clehT TT a1T| Sholol Yook FART
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e aht 7S St =gan | J Sl foh 227 &l & WX a7 § 3R 319 I U HER & g S, Sit geen

mﬁ%@?gv&auﬁ%qﬂ et B!
(i) Wwﬁaﬁmﬁzﬁaﬁmmaﬁ?
() Fre, (&) TIEY arer
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Yo10

Yo11

(i)

(iii)

(iv)

v)

(aT) QT H (&) 3G

RS Y g ITaT Y f3Ay a1 747 e

() T 3Te¥h ATTAAT I ST Teld A | (@) T HTFHTSTA o foIAT 9ad AT hLd A |
(3T) F FHTFETSTe oh AT AT A | (&1) ¥ SE STec-STed! Tgd

TAEE T ATEHT & Tgaal Y Fa1 et A

() 3TTEIST & (@) FIeTH JeIor o

(31) BT A (ET) Iy 9ol &

AfEFT F TatFe e i gFadar W 3aF At @ o yHR & qurgat &
1. "QITSTRT! H &R0 T AT AL Y fer|”

2. "SI 3TTFHISTST & TaREC i TeTs Tgel WSS

3. EN, A oY 30T ToTs Y| A agd THeT g1

4. AR 3E TS 3R & fNT e AT Ryt A ST &efT gl

Reeq:

(@) 133 (@) 1,3 31X 4

(3T) Sherel 3 (1) 3 3T 4
ATl =T (A) TUTFROT (R) F SAIEF IRT| 380 918 w 710 Aol # § F:1§
TS WEl fahed gaa faf@v|

HYeT (A): 2 DI TG ITl W I g |

HROT (R): STGT ITeT T TR AT el TE |

(F)  FHUA (A) TUTHROT (R) GleAl AT |

(@) YA (A) Il &, offehal SHRT (R) HET & |

(AT) U (A) TET §, AHfheT SHIROT (R) 3T Il ITEAT AT & |

(&)  hYUeT (A) TUTHRT (R) GlAT HET & AT HRUT (R) HUA (A) Y HET cATEIT AT 8 |

fArafaf@a i weat & @ el &Y weat & 3% Jers7er 25 W 30 ereal & fAf@T:

(i)

(ii)

(iii)

I 3TETd YT 27 3R sghT i ATfAS A | 39S GaRT SH UISTHA H U¢ 1T I1S H @

& TIT lF-TT 3maTd 3T AT 3R ST @ TR FAT FHIT TST?

'SH U H AR IR EITE Sl The; 3R Fihe; ol TATE el 1T AUT|' 'YshclR o FHTET' UTS o TR

IR SHPT 3T TISC ST

S AV 31T9T UTSTshal H THTST H SATCd HYUTAETAY TR TR Ush gt IS ¢ | T $73TaTeAT

¢ Al 58 Hefaeard T RIS s=ir? 39 [auR eged HIfoT|

farafat@a srearer ot smaRa (@ 717 weat % 3w faf@w:
HIHA B

TH &ATH I el |

W8] SfY, JH deeT §H UTe,

SAThT 39T-379T S GHT |

8] S, JH T aeT &3 AR,

S Rdad g IaRT|

W8] SHY, A &1k g ST,
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Yo12

Yo13

SRt S s feaT et
T8 SN, A AT & e,

S8 At fRerd ggreml
Te] i, A TaTHT & ST,
o HiFd HI e ||
(i) FRAFNFTFATHAITTCATTER?
(ch) $TaTaTe (@) TH (1) ot (er) fasoy
(i) A HFd T HIGTT & FFT THR T G a2
() WTeTt T TTereT-&T (@) rara g7-ar
(31) a7 T Sge-AT (&) forsg g Ir&-ar
(i) YA AFT FTIFR HraFas?
(sF) 7% T fRrsT <hr (@) TaTHY T ST T
(1) T T e hr (&) Sl () T (@)
(iv)  Sdd e & TR A FTFAT 7 82
() TR TG (W) TSAT T 3HFT Aleeir
(37) 58] & Forw STermam rar ek (&) Uk T&TY, S TEAT Sl I ATAT SATAT & |

(v)  SULFA FTEAIA F EY A FIT-HT FYA HA §?

()  ohid v A o TAHR GT A B |

(@) i & 3T JolelT STk A T & |

(M) A ST P AT & FHAA TgHed AT

()  HYe 7 GgTem el & ¥ 389 3R R sr g
farafaf@e weal & 3av aerser 25 & 30 eal # faf@w:

(i) 379 YTSTshA o Ueh clg H AR T T Frasgerd STel I & ST 1T & | FAT 379 30T
HEH g2 3791 2Tal H 3R &S|

(i)  3T9oh GaRT 3 UTeAHHA H IS 15 fohd HiddT 7 Al & FaSAT Sfiae &l faAlaX 31 ded Eat
T RO & 915 &2 Fia o 37 wiadr & foved Tclierrcas Qrea &1 T2eT fFar &2

(i) I AT ST & HiIar & AN F B arel foveT IRTIAT Y 3R SART fFHAT #?

farafaf@d wrat & 363 971 50 | 60 2rsE} # fAf@T:

() Toreey aTe # ot 9Y-afaTat o gfd S5 & HageTellel & | 38 I 37 97, 5am 3R Felopeif
ohT $1Td & | TR T HTeT HHT H T SoTeh Tict HaeeTeiTer 81cll ST 6T & | 37ToT <hl JaT HIeT &l 58 I16
A T YIOTT oledT ATRT?

(i) ool BRUT & or@eh = FIefoat I HT A ehreret 1 o foram? wfar re & 3R ) fafgu|

(iii) "3RI I AT AR & 92 A9 Nrderal & Y AT &1 3T ATHHIOT & e AT AT & 3R
g TUTH T 98y §? 916 & 3R ) faf@u|
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Yo14 3w oI waher g3t & IMUR 9 F9re1aT 120 2rec} H srfedre faf@T-
(i) e & AARSIT FT Hgeq
¥d g,
o IS & g & 3¢ 3R 3818 &1 TIR
o HARSIH A ATATHR QAferd 1 fashr

o HARGIA T AT T TIATT |

AYgar
(i) FHATER-AT Y IgANANar
Wﬁg
AT TIC T HgcaqoT AL
YR -YIR T ATETH
TR 3R faam9eT 7 orer

AT, HeAolel ¥ YT

Jo15 fU T Al fawal & @ v 9T Asrar 100 2ree} F 9 fAf@vw|
Wﬁwﬁwﬁamwwaﬁ@mﬁwmﬁwwmm
AYgdar
A T FTAAT AT U 3791 T3 T 918797 100 2t A Teh I fafgw|
Yo16 U T AWy g &Y Aait & AEATAR ATaATATT Y FITHI 100 A6l & awe F T H fAf@w
2l fAT Ta=o R AT A HeT AT arga € 5d%@ﬂ§0mﬁm$mﬁﬁ@m

MATHEMATICS PRACTICE PAPER

General Instructions:

(i) This Question Paper has 5 Sections A, B, C, D and E.

(i) Section-A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

(iii) Section-B has 5 questions carrying 2 marks each.

(iv) Section-C has 6 questions carrying 3 marks each.

(v) Section-D has 4 questions carrying 5 marks each.

(vi) Section-E has 3 Source based / Case Based / Passage based / integrated units of Assesment (4marks each) with subparts of 1,
1 and 2 marks each respectively.

(vii) All questions are compulsory. However internal choice has been provided.

(viii) Draw neat figures wherever required.

SECTION-A
Q1 9 is number.
(@) arational (b) an irrational (c) neither rational nor irrational (d) a real
Q.2 The co-ordinates of the origin are:
@ (23 (b) 3,2) () (0.0) (d) (4,3)
Q.3 Express ‘x’ in terms of ‘y” in the equation 2x — 3y —5=0
5-3y

@ x== (0)x =22 (€)x === (d) x = =2
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Q.4 Thevalueof 1/(81)72 is
@3 0) 5 OF @9

Q.5 A histogram ia a pictorial representation of the grouped data in which class intervals and frequency are respectively

taken along
(a) horizontal axis only (b) horizontal and vertical axis
(c) vertical axis and horizontal axis (d) vertical axis only

Q.6  Forthe equation 5x — 7y = 35, if y =5, thenthe value of x is

(a) 12 (b) -12 (c)-14 (d) 14
Q.7 The edges of a surface are
(a) curves (b) points (c) lines (d) both (b) and (c)
Q.8 ABCD is a trapezium in which AB || CD and £A = £B = 45° . Find the angles C and D of the trapezium.
(a) 150°, 150° (b) 120°, 120° (c) 135°, 135° (d) 200°,50°
Q.9 If we multiply both sides of the linear equation with a non-zero number, then the solution of the linear equation:
(a) remains the same (b) changes in case of multiplication only
(c) changes in case of division only (d) changes

Q.10 If one angle of a parallelogram is 24° less than twice the smallest angle, then the measure of the largest angle of the
parallelogram is
(a) 112° (b) 68° (c) 176° (d) 102°

Q.11 If two interior angles on the same side of a transversal intersecting two parallel lines are in the ratio 2:3, then the greater
of the two angles is

.
.
/

(a) 54° (b) 108° (c) 120° (d) 136°
Q.12 The factors of 1 — 2ab — (a? + b?) are

@ (1+a-b)(1+a+b) b)) (1+a+b)(1-a+b)

©(L+a+b)(l—a-b) d(1+a-b)(1-a+b)

Q.13 If the bisectors of 2A and £B of a quadrilateral ABCD intersect each other at P, 2B and 2C at Q, 2C and 2D at R,
<D and £A at S then PQRS is

(a) Rectangle (b) Parallelogram (c) Rhombus (d) square
Q.14 Ifa=-2, b=-1,thena® — b* isequal to
(a)-1 (b) 0.5 (c)-2 (d)-15
Q.15 If a bisector of the angle A of AABC is perpendicular to the base BC of the triangle then the triangle ABC is
(a) Isosceles (b) Obtuse Angled () Equilateral (d) Scalene
Q.16 The diameters of two cones are equal . If their slant heights are in the ratio 5:4 the ratio of their curved surface area is
(@5:4 (b)4:5 (€)16:25 (d) 25: 16
Q.17 Inabar graph if 1 cm represents 30 km, then the length of the bar needed to represent 75 km is:
(@) 3.5cm (b) 2.5cm (c) 2cm (d) 3cm
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Q.18

Q.19

Q.20

Q.21
Q.22

Q.23

Q.24

Q.25

Q.26
Q.27

Q.28
Q.29

Q.30

Q.31

Q.32

The angle subtended by the diameter of a semi-circle is:

(a) 90° (b) 45° (c) 180° (d) 60°
DIRECTIONS: In question number 19 and 20 a statement of Assertion (A) is followed by a statement of Reason (R).
Choose the correct option:

(@) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is not the correct explanation of A

(c) Aistrue butR is false

(d) Ais false but R is true

Assertion (A): A linear equation 2x + 5y = 8 has a unique solution.

Reason (R): A linear equation in two variables has infinitely many solutions.

Assertion (A): The height of the triangle is 18cm and its area is 72 cm?. Its base is 8cm.

Reason (R): Area of a triangle = % X base X height

SECTION-B

If P, Q and R are three points on a line and Q is between P and R, then prove that PR — QR = PQ.
In which quadrant will the point lie, if:
(@) The y- coordinate is 3 and the x- coordinate is —4?

(b) The x- coordinate is -5 and the y- coordinate is —3?

30

Simplify the following by rationalizing the denominator: N

OR

Simplify: 647 [64§ - 64§]
The largest sphere is carved out of a solid cube of side 21cm. Find the volume of the sphere.
OR
If the radius of the base of a circular cone is half keeping the height same. What is the ratio of the volume of the reduced

cone to that of the original one?
Solve for the x : 5(4x + 3) = 3(x — 2)

SECTION-C

Find the value of the polynomial 3x® — 4x% + 7x — 5, when x = 3 and also when x = —3.

The perimeter of an isosceles triangle is 32 cm. The ratio of the equal side to its base is 3:2. Find the area of the triangle.
OR

Find the cost of laying grass in a triangular field of sides 50 m, 65 m, 65 m at the rate of Rs 7 per m?.

If the non-parallel sides of a trapezium are equal, prove that it is cyclic.

Find the solution of the linear equation x + 2y = 8 which represents a point on the

(a) x-axis (b) y-axis

If the diagonals of a parallelogram are equal, then show that it is a rectangle.
OR

Show that the line segment joining the mid- point of any two sides of a triangle is parallel to third side and is equal to

half of it.

In a city, the weekly observations made in a study on the cost of living index are given in the following table:

Cost of living index | 140-150 | 150-160 | 160-170 170-180 180-190 190-200
Numbers of weeks 5 10 20 9 6 2
Draw a histogram for the above data.

SECTION-D
. o 743V5  7-3V5
Find the values of aand b if = - =% =a+ b5
OR
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Q.33

If a = vz and b = V21 , then find the value of a® + b? — 4ab
V2-1 V2+1

Factorise: P(x) = 2x3 — 11x* + 17x — 6

Q.34 AABC and ADBC are two isosceles triangles on the same base BC and vertices A and D are on the same side of BC

Q.35

Q.36

(see the figure). If AD is extended to intersect BC at P, show that A
(a) AABD = AACD

(b) AABP = AACP

(c) AP bisects 2A as well as 2D

(d) AP is the perpendicular bisector of BC.

OR
AABC is an isosceles triangle in which AB = AC. Side BA is produced to D such that AD = AB. Show that £BCD is
a right angle.

D
A
B c
In the Figure, POQ is a line. Ray OR is perpendicular to line PQ. OS is another ray lying between rays OP and OR. Prove
that £ROS =~ (£QOS - £POS).
Ir
S
« ]
P o Q

OR
It is given that £XYZ = 64° and XY is produced to point P. Draw a figure from the given information. If ray YQ bisects
£ZYP, find £XYQ and reflex £QYP.

SECTION-E
The Class IX students of a secondary school in Krishinagar have been allotted a rectangular plot of land for their
gardening activity. Sapling of Gulmohar are planted on the boundary at a distance of 1m from each other. There is a lawn

PQRS in the ground as shown in the below figure:
B

D

1 A 3 4 5 6 7 8§ 9 10

(@) What are the coordinates of C, taking A as origin?
(b) What is the shape of lawn PQRS?
(c) Find the side of lawn PQRS.
OR
Neha and Mohan went on a field trip to a riverbank. They noticed a triangular piece of land that they wanted to measure
and calculate its area. They made the following observations:
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Q.37

() Neha measured the lengths of the three sides of the triangular piece of land as 7 metres, 9 metres, and 11 metres.

(1) Mohan measured the lengths of the three sides of the same triangular piece of land as 10 metres, 12 metres, and 15
metres.

Based on this information, the students were asked to apply Heron’s Formula to find the area of the triangular piece of

land. Let’s see if you can answer the questions correctly:

(@) What is the semi perimeter of Neha’s measurement?

(b) Write the formula by which Mohan will find the area of triangular piece of land?

(c) Find the area of Neha’s triangle?

Maths teacher draws a stra;ght line AB shown on the blackboard as per the following figure.

(I) Now he told Raju to draw another line CD as in the figure.
(I1) The teacher told Ajay to mark ZAQD as 2z.

(111) Suraj was told to mark £AQOC as 4y.

(IV) Clive made an angle, 2COE = 60°.

(V) Peter marked £BOE and £BOD as y and x respectively.
Now answer the following questions:

(@) What is the value of x?

(b) What is the value of y?

() What is the value of z?

SCIENCE PRACTICE PAPER

General Instructions:

(i)
(ii)

(iii)
(iv)

(v)
(vi)
(vii)

Q.1

Q.2

Q3

Q4

Q5

This question paper consists of 39 questions in 5 sections.
All questions are compulsory. However, an internal choice is provided in some questions. A student is expected to attempt only
one of these questions.
Section-A consists of 20 Multiple Choice questions carrying 1 mark each.
Section-B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should be in the range of 30
to 50 words.
Section-C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions should be in the range
of 50 to 80 words.
Section-D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these questions should be in the range
of 80 to 120 words.
Section-E consists of 3 Source-based/Case-based units of Assessment of 04 marks each with sub-parts.
SECTION-A

Multiple Choice Questions:

Which condition out of the following will increase the evaporation of water?

(a) Increase in temperature of water (b) Decrease in temperature of water

(c) Less exposed to surface area (d) Adding common salt to water

Which of the following will show Tyndall effect?

(a) Salt solution (b) Sugar solution (c) Soap solution (d) Copper Sulphate solution

In a compound such as water, the ratio of mass of hydrogen to the mass of oxygen is always:

(@) 1:8 (b) 2:8 (c) 1:16 (d) 3:16

The molecule having an atomicity of 4 is:

(@) Sulphur molecule (b) Phosphorus molecule (c) Ozone molecule (d) Methane molecule

Elements with valency 1 are:
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Q.6

Q.7

Q38

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

(a) always metals (b) always metalloids
(c) either metals or non-metals (d) always non- metals
The only cell organelle seen in prokaryotic cell is:

(a) Mitochondria (b) Ribosomes (c) Plastids (d) Lysosomes
Chromosomes are made-up of:
(a) DNA (b) Protein (c) RNA (d) DNA and Protein

Which of the following do not lose their nucleus at maturity?

(@) Companion cells (b) Red blood cells (c) Vessels (d) Sieve tube cells

Area under v-t graph represents a physical quantity which has the unit:

() m? (b) m (c) m? (d) ms™

Which of the following statement is not correct for an object moving along a straight path in an accelerated motion?
(a) It’s speed keeps changing. (b) It’s velocity always changes.

(c) It always goes away from the earth. (d) A force is always acting on it.

If the earth stops rotating, the value of ‘g’ at the equator will:
(a) increase (b) remain same (c) decrease (d) keep on changing

An object weighs 10 N in air. When immersed fully in water, it weighs only 8 N. The weight of the liquid displaced by
the object will be:

(@2N (b) 8N () 10N (d) 12N

Potential energy of a person is minimum when:

(a) person is standing (b) person is sitting on a chair

(c) person is sitting on the ground (d) person is lying on the ground

The cgs unit of work is:

(a) joule (b) erg (c) dyne (d) watt

Sound waves are:

(a) transverse (b) longitudinal

(c) partly transverse and partly longitudinal (d) completely transverse and partly longitudinal
Which of the following is raised as food for the live stock?

(a) Millets (b) Sorghum (c) Lentil (d) Oats

Directions: Question no. 17 to 20 consist of two statements Assertion (A) and Reason (R). Answer these questions by
selecting the appropriate option given below:
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A)
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct explanation of the Assertion (A)
(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
Assertion (A): Wet clothes does not dry in dark.
Reason (R): Evaporation also occur in the dark.
Assertion(A): Neuron is the structural and functional unit of nervous system.
Reason (R): Neuron is the connective tissue of circulatory system.
Assertion (A): When a gun is fired, it gives a backward jerk.
Reason (R): By law of conservation of momentum for an isolated system the linear momentum of the system is always
conserved.
Assertion (A): Every object falls towards the earth with the same acceleration.
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Q.21
Q.22

Q.23

Q.24
Q.25

Q.26

Q.27
Q.28

Q.29
Q.30

Q.31

Q.32

Q.33

Q.34

Q.35

Reason (R): Greater the mass of a planet, greater is the value of acceleration due to gravity on its surface.

SECTION-B

Differentiate between an element and a compound.
What are isotopes and isobars? Give examples of each.
State two functions of cell membrane.

OR
What would happen to a life if there was no Golgi apparatus?
Define work. Write an expression for work in terms of force and displacement. State SI unit of work done.
Explain how ultrasound is used to clean spiral tubes and electronic components?

OR
A hoy receives his echo 3s later. Find the distance of the reflecting surface from the boy. Speed of sound in air is 342
m/s.
What are the desirable agronomic characteristics for crop improvement?

SECTION-C

How is evaporation different from boiling?
Define formula unit mass of compound. Calculate the formula unit mass of
(@) Na2COs (b) CuSO4
OR
State postulates of Dalton’s Atomic Theory.
What is the role of epidermis in plants?
A truck running at 90 km/h is brought to rest over a distance of 25 m. Calculate the retardation and time for which
brakes are applied.
Distinguish between mass and weight of an object.
OR
Gravitational force on an imaginary planet is six times stronger than the gravitational force of the earth. Determine the
value of acceleration due to gravity and weight of an object of mass 50 kg on that planet.
(@) Anarrow moves forward when released from a stretched bow. Explain the transformation of energy in the process.
(b) A boy of mass 50 kg climbs up a vertical height of 100 m. Calculate the amount of potential energy he gains.
Fertilizers have short-term benefits whereas manures have long-term benefits. Do you agree with this statement?
Give three reasons in support of your answer.

SECTION-D

(@) How would you derive a mathematical formula to measure force using second law of motion?
(b) An object of mass 50 kg is accelerated uniformly from a velocity of 4 m/s to 8 m/s in 8s. Find the magnitude
of the force exerted on the object.
OR
(@) Define buoyancy. State the factors on which buoyant force depends.
(b) State Archimedes principle. Give any two important applications of Archimedes principle.

(@) Level 3 the difference between sol and gel?
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Q.36

Q.37

Q.38

(b) What volume of ethyl alcohol and water must be mixed together to prepare 250 ml of 50 percent by volume
of alcohol in water?
OR
(@) Write three observations of Rutherford’s alpha particles scattering experiment.
(b) Write electronic configuration and draw the electronic structure of element X with atomic number 17 and
element Y with atomic number 16. Identify X and Y also.
(@) Draw a labelled diagram of unstriated muscle tissue and mention it’s occurrence, features and functions.
(b) Write 2 difference between bone and cartilage.
OR
(@ What would happen if the plasma membrane ruptures or breaks down?
(b) Why are Lysosomes known as suicidal bags?
SECTION-E

Cattle husbandry is done for two purposes—milk and draught labour for agricultural work such as tilling, irrigation and
carting. Indian cattle belong to two different species, Bosindicus, cows, and Bosbubalis, buffaloes. Milk-producing
females are called milch animals (dairy animals), while the ones used for farm labour are called draught animals.
Milk production depends on the duration of the lactation period, meaning the period of milk production after the birth of
a calf. So, milk production can be increased by increasing the lactation period. Exotic or foreign breeds (for example,
Jersey, Brown Swiss) are selected for long lactation periods, while local breeds (for example, Red Sindhi, Sahiwal) show
excellent resistance to diseases. The two can be cross-bred to get animals with both the desired qualities.
Proper cleaning and shelter facilities for cows and buffaloes are required for humane farming, for the health of the animals
and for production of clean milk as well. The food requirements of dairy animals are of two types: (a) maintenance
requirement, which is the food required to support the animal to live a healthy life, and (b) milk producing requirement,
which is the type of food required during the lactation period.
(@) What do you mean by lactation period?
(b) Which method is commonly used for improving cattle breeds and why?
() What are milch animals and draught animals?

OR
(c) What are benefits of cattle farming?
A body is said to have uniform motion, if it travels equal distances in equal intervals of time, no matter how small these
intervals may be. The distance travelled by an object in uniform motion increases linearly. A train travels from one station
to the next. The driver of train A starts from rest at time t=0 and accelerates uniformly for the first 20 s. At time t=20 s,
train reaches its top speed of 25 m/s, then travels at this speed for further 30 s before decelerating uniformly to rest. Total
time for the journey of train A is 60 s. Another train B is travelling in the parallel of train A with zero initial speed at t=0
and then accelerates uniformly for first 10 s. At time t=10 s it reaches its top speed of 30 m/s,then travels at this speed
for further 20 s, before decelerating uniformly to rest. Total time for the journey of train B is 80 s.
(@) Define Uniform motion.
(b) What is the initial speed of trains A and B?
(c) Calculate the acceleration of train A moving with velocity 25 m/ s in 10 seconds.

OR

(c) Distinguish between speed and velocity.
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Q.39 The term chemical formula of a compound is said to be the symbolic representation of its composition or it is a notation

that shows the type and number of atoms in a molecule of a compound with the help of atomic symbols and numbers.
They provide information on the elements that constitute the molecules of a compound and the ratio in which the atoms
of those elements combine to form the molecules. Example: A molecule of water, which is a compound, contains two

atoms of hydrogen and one atom of oxygen. Its chemical formula is H20.
(@) Define atomicity.
(b) Why is it not possible to see an atom with naked eyes?
(c) Write the chemical names of:

(i) AgBr (ii) NH4CI

OR

(c) Write the chemical formula of the following compounds:

(1) Potassium sulphate (i1) Sodium chloride

SOCIAL SCIENCE PRACTICE PAPER

General Instructions:

(i)

(i)
(iii)

(iv)
(v)
(vi)

This question paper comprises 6 sections — A,B,C,D,E and F. There are 37 questions in the question paper. All questions are
compulsory.

Section-A has Question No. 1 to 20 Objective Type Questions of 1 mark each.

Section-B has Question No. 21 to 24 very short answer type questions, carrying 02 marks each. Answer to each question should
not exceed 40 words

Section-C has Question No. 25 to 29 Short Answer Type Questions, carrying 03 marks each. Answers to these questions should
not exceed 60 words each.

Section-D has Question No. 30 to 33 Long Answer Type Questions carrying 05 marks each. Answer to each question should not
exceed 120 words.

Section-E has Question No. 34 to 36 Case Based Questions carrying 04 marks each. Answers to these questions should not
exceed 100 words.

(vii) Section-F has Question No. 37 Map Based Questions carrying 05 marks with two parts, 37-A from History (02 marks) and 37-

B from Geography (03 marks).

(viii) There is no overall choice in the question paper. However, an internal choice have been provided in few questions. Only one of

(ix)

Q.1

Q.2

Q.3

the choices in such questions have to be attempted.
In addition to that separate instructions are given with each section and questions, wherever necessary.

SECTION-A
Multiple Choice Questions:
On 5th may 1789, Louis XVI called together an assembly of the Estate General to
(a) pass proposals for new taxes (b) pass new constitution
(c) grant political equality to all (d) declare war on Britain

, a leading English manufacturer sought to build a cooperative community called New Harmony in Indiana

(USA) and replaced capitalist enterprise.

(a) Karl Marx (b) Frederich Engels (c) Robert Owen (d) Louis Blanc
Propaganda films like were made to create hatred for Jews.
(a) The Eternal Jews (b) The Last Jew (c) Mein Kemf (d) The Third Reich of Dreams
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Q.4 Identify the given picture, what does it signify?

Vo
g -

(@) The Symbol of Power (b) The Symbol of Quality (c) The Act of Unity  (d) The Act of Freeing (Freedom)
Q.5 Which of the following state is not lying on the Tropic of Cancer?

(a) Gujarat (b) Madhya Pradesh () Jharkhand (d) Uttar Pradesh
Q.6 lies towards the western margins of the Aravali hills.
(@) The Peninsula Plateau (b) The Coastal Plains (c) The Indian Desert  (d) The Northern Plain

Directions: Question number 7 and 8 are Assertion and Reason type questions. Two statements are given as Assertion
(A) and Reason (B). Select the correct answers to these questions from the codes (a), (b), (c) and (d) as given below.
(@) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(b) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(c) (A) is correct but (R) is not correct.
(d) (A) is not correct but (R) is correct.
Q.7 Assertion (A): Population is a dynamic phenomenon.
Reason (R): The natural increase in population is the difference between birth rate and death rate.
Q.8 Assertion (A): Rights are necessary for the very sustenance of a democracy.
Reason (R): Democracy is a form of government in which the rulers are elected by the people.
Q.9 What type of climate prevails in India?

(@) Monsoon (b) Equatorial (c) Tundra (d) Mediterranean
Q.10 Which of the following has the lowest density of the population?
(a) Sikkim (b) Arunachal Pradesh (c) Ladakh (d) Rajasthan
Q.11 The head of the state is an elected person and not a hereditary position. This means India is a
(a) Socialist (b) Republic (c) Liberty (d) Sovereign
Q.12 is used to record votes.
(@) ATM (b) EVM (c) PTM (d) Code of conduct
Q.13 Which of the following is not associated with Right Against Exploitation?
(a) Ban of Begar (b) Ban of Human Trafficking  (c) Ban of Child Labour (d) Ban of Untouchability
Q.14 is the final authority for making laws in any democratic country.
Q.15
Appointment of Ministers President
Guardian of the Fundamental Rights ?

Q.16 Which is the most labour absorbing sector of the Indian economy?

(a) Secondary Sector (b) Tertiary Sector (c) Public Sector (d) Primary Sector
Q.17 Which of the following person is food insecure?

(@) Rural Woman (b) Urban Labourers (c) Working Woman  (d) Pregnant and Nursing Mothers
Q.18 The organization conducts periodic surveys to estimate poverty line.

Q.19 The most devastating famine that occurred in India was the Famine of Bengal in
(a) 1943 (b) 1944 (c) 1945 (d) 1946
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Q.20

Q.21

Q.22
Q.23
Q.24

Q.25
Q.26

Q.27
Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

What is issue price?
OR
What was the thought of Gandhiji about a truly independent India?

SECTION-B
Match the following:
Column A Column B
(a) Antyodaya Yojana (1) Food security
(b) Public Distribution System (i) Poorest of the poor
(€) Minimum Support Price (iii) Increase in food grains production
(d) Green Revolution (iv) Farmers paid a pre-announced price for their crops

Differentiate between ‘Socialism’ and ‘Capitalism’.
What are the major objectives of the ‘National Food for Work Program’?
Analyse the role of health in human capital formation.

SECTION-C

Explain the role of Mirabeau and Abbe’ Sieye’s in the French Revolution.
Mention any three characteristics of the monsoon.
“The apartheid system was particularly oppressive for the blacks’. Justify by giving three reasons.
What is disguised unemployment? Explain with the help of an example.
Give an account of the interstate disparities in poverty in India.

OR
Write a note on MGNREGA 2005.

SECTION-D

Why is Buffer stock created by the government?

OR
What are the limitations of the public distribution system? Explain.
Explain any five rights that the constitution of South Africa guarantees to its citizens but are not provided in the
constitution of India.

OR

Explain the major powers and functions of the Prime Minister.
Explain any five significant characteristics of the adolescent population of India.

OR
Distinguish between Western Ghats and Eastern Ghats.
Explain Hitler’s foreign policy.

OR

Explain the collectivization policy of Stalin.

SECTION-E
Read the following passage and answer the following questions:
Internal migration does not change the size of the population, but influences the distribution of population within the

nation. Migration plays a very significant role in changing the composition and distribution of population. In India,
most migrations have been from rural to urban areas because of the 'push’ factor in rural areas. These are adverse
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Q.35

Q.36

conditions of poverty and unemployment in the rural areas and the "pull’ of the city in terms of increased employment
opportunities and better living conditions. Migration is an important determinant of population change. It changes not
only the population size but also the population composition of urban and rural populations in terms of age and sex
composition. In India, the rural-urban migration has resulted in a steady increase in the percentage of population in
cities and towns. The urban population has increased from 17.29 per cent of the total population in 1951 to 31.80 per
centin 2011. There has been a significant increase in the number of 'million plus cities' from 35 to 53 in just one decade,
i.e. 2001 to 2011.
(@) Give any two reasons which are responsible for migration in village areas.
(b) The sex ratio in rural areas is somewhat higher than in urban areas. Given one possible cause for it.
(c) Migration is an important determinant of population change. Give reasons.
Read the source given below and answer the questions that follow:
The Bolsheviks were totally opposed to private property. Most of the industries and banks were nationalised in
November 1917. This meant that the government took over ownership and management. Land was declared social
property and peasants were allowed to seize the land of the nobility. In cities, Bolsheviks enforced the partition of large
houses according to family requirements. They banned the use of the old titles of aristocracy. To assert the change, new
uniforms were designed for the army and officials, following a clothing competition organized in 1918- when the Soviet
hat (budeonovka) was chosen.
(@ Who were Bolsheviks?
(b) __ wasthe leader of Bolsheviks.

(1) Stalin (i1) Vladimir Lenin (iii) Kerenskii (iv) Nicholas 11
(c) State any two ideological features of Bolsheviks.
(d) State any two steps taken by the Bolsheviks which proved that it was a party with socialist ideology.
Read the source given below and answer the questions that follow:
The percentage of population that is economically active is an important index of development. The distribution of the
population according to different types of occupation is referred to as the occupational structure. An enormous variety of
occupations are found in any country.
(@) Occupations are generally classified as:

(1) Primary, Secondary and Tertiary (i1) Agriculture, Secondary and Tertiary

(i) Primary, Secondary and Mechanical (iv) Manufacturing, Agriculture and Mechanical
(b) Primary activities include and

(1) Agriculture and Industry (i) Mining and Agriculture

(ii1) Agriculture and Allied Activities (iv) Manufacturing and Communications

(c) Indeveloped nations, a large proportion of people are engaged in which of the following sectors?
(i) Primary and Tertiary (i) Tertiary and Secondary
(iii) Primary and Secondary (iv) Tertiary and other services

(d) There has been an occupational shift in favour of Secondary and Tertiary sectors because of:
(1) Trade Barrier (i1) Growing Industrialization and Urbanization
(iii) Subsidies (iv) National Population Policy
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SECTION-F
Q.37 Map Activity:

(37-A) (History) Locate and label the following countries on a political map of the World (any two):
(i) Germany (Central Power)
(i) England (Allied Power)
(iii) Turkey (Ottoman Empire)

(37-B) (Geography) Locate the following places on a political map of India (any three):
(1) The state having lowest density of population
(i) Gir National Park
(iii) Chilika lake
(iv) Malabar Coast
(v) Eastern most latitude of India
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